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Find the average of first 10 natural number ?  

प्रथम 10 प्राकृतिक संख्या का औसि ज्ञाि कीतिए?

(A)5

(B)5.5

(C)6

(D)4.5



Find the average of first 40 natural number ?  

प्रथम 40 प्राकृतिक संख्या का औसि ज्ञाि कीतिए?

(A)20

(B)20.5

(C) 20.25

(D)25



Find the average of first 100 natural number ?  

प्रथम 100 प्राकृतिक संख्या का औसि ज्ञाि कीतिए?

(A)50

(B)51

(C)50.50

(D)51



Find the average of all even number up to 100 ?  

उदा:- 100 िक की सभी सम संख्याओं का औसि ज्ञाि कीतिए?

(A)51

(B)50

(C)50.50

(D)52



Find the average of all odd number up to 100 ?  

100 िक की सभी तिषम संख्याओ ंका औसि ज्ञाि कीतिए?

(A)52

(B)50

(C)50.50

(D)51



(A)150

(B)143.5

(C)150.50

(D)151

Find the average of -------

12 + 22 + 32 + 42 + --------------------+ 202 = ?



Find the average of -------

13 + 23 + 33 + 43 + ------------------------- + 203 = ?

(A)2205

(B)2000

(C)2500

(D)2400



The average of 5 consecutive number is 20. Find the largest 

number? 

5 लगािार संख्या का औसि 20 है। सबसे बडी संख्या ज्ञाि कीतिये?

(A)26

(B)24

(C)18

(D)22



The average of 5 consecutive odd number is 61. Find the largest number? 

5 लगािार तिषम संख्या का औसि 61 है। सबसे बडी संख्या ज्ञाि कीतिये?

(A)65

(B)59

(C)63

(D)57



The average of 4 consecutive even number is 27. Find the largest 

number? 

4 लगािार सम संख्या का औसि 27 है। सबसे बडी संख्या ज्ञाि कीतिये?

(A)30

(B)24

(C)22

(D)32



In a set of three numbers, the average of first two numbers is 2, the average of 

the last two numbers is 3, and the average of the first and the last numbers is 4. 

What is the average of three numbers?

िीन संख्याओ ंके एक समूह में, पहले दो संख्याओ ंका औसि 2 है, अंतिम दो संख्याओ ंका 

औसि 3 है, और पहली और अंतिम संख्याओ ंका औसि 4 है। िीन संख्याओ ंका औसि क्या 

है?

(A)6

(B)3

(C)9

(D)4



If the average of m number is n2 and the average of n number is m2 the find the 

average of the (m + n) ?

यतद m संख्या का औसि n2 है और n संख्या का औसि m2 (m+ n) का औसि ज्ञाि करें?

(A)m

(B)n

(C)mn

(D)mn/2



The Average income of A,B & C is Rs.12,000 per month and average income 

of B,C & D is Rs.15,000 per month. If the average salary of D be twice that 

of A, then find the average salary of B and C?

A, B & C की औसि आय 12,000 रुपये प्रति माह और B, C & D की औसि आय 

15,000 रुपये प्रति माह है। यतद D का औसि िेिन A से दोगुना है, िो B और C का औसि 

िेिन ज्ञाि करें ?

(A)2700

(B)13500

(C)12500

(D) 13000



The average age of 36 students is 15 years. When teacher’s age is 

included to it, the average increased by 1.What is the teacher’s age?

36 छात्रों की औसि आयु 15 िषष है। िब तिक्षक की आयु को इसमें िातमल तकया 

िािा है, िो औसि में 1. तिक्षक की आयु तकिनी होिी है?

(A)51

(B)50

(C)52

(D) 49



The average monthly salary of 20 employees in an organization is Rs. 1500. If 

the manager's salary is added then the average salary increases by Rs. 100.. 

What is the manager's monthly salary?

एक संगठन में 20 कमषचाररयों का औसि मातसक िेिन 1500 रुपये है। यतद प्रबंधक का िेिन 

िोडा िािा है िो औसि िेिन 100 रुपये बढ़ िािा है। प्रबंधक का मातसक िेिन क्या है?

(A)2500

(B)2600

(C)2100

(D) 3600



The average weight of 10 persons decreases by 2.5 kg when a new person 

comes in place of one of them weighing 70 kg . What is the weight of new 

person?

10 व्यतियों का औसि ििन 2.5 तकलोग्राम कम हो िािा है, िब एक नया व्यति 70 

तकलोग्राम ििन का होिा है। नए व्यति का ििन क्या है?

(A)45

(B)95

(C)65

(D) 55



The average weight of 8 persons increases by 2.5 kg when a new person comes 

in place of one of them weighing 65 kg. What might be the weight of the new 

person ?

8 व्यतियों का औसि ििन 2.5 तकलोग्राम बढ़ िािा है, िब एक नया व्यति 65 तकलोग्राम 

ििन का होिा है। नए व्यति का ििन क्या हो सकिा है?

(A)85

(B)40

(C)65

(D) 95




